i _t:
Shaf%hai

i =
Hangzhou - s

o

)
o Tl
Thours > ; Ningbo

S
M)
1 hours 1 hours
our)
9 2 hours

Yiwu

Gua,:ihou

Brake Chamber Master
AL — B ET AR AE
Zhejiang T1ZC Automobile Parts Co.,Ltd

ik AT REETREES AR 12225

E3iE: 0086-0575-89098166

pFg: sale@tizc.cn

Pt www.t1zc.cn

p%s: 311811

Add: No.122 -2 Busen west road Fenggiao Town,Zhuji City,Zhejiang Province
Tel:0086-0575-89098166

E-mail:sale@tizc.cn

Web:www.t1zc.cn

P.C:311811 S
E%cwuo: sale@tizc.cn




<<ABOUT US

Brake Chamber Master

Brake Chamber Master

We focus on the research and
development of brake chamber.

ABOUT US»»

Brake Chamber Master

T1ZC

Zhejiang T1ZC Automobile Parts Company is located in Zhuji,Zhejiang Province.
It was founded in 2016 and focuses on the development and manufacturing of
brake chambers.

Currently, we have four factories, T01, F02, M03, Y04.
TO1 is located at the company headquarters and is mainly responsible
for sales, R&D, QC, and production of special types of brake chambers.
Other factories have their main responsible market and produce brake
chambers for the vehicle model in the market they respond to.

At present, the company focuses on the development of overseas markets,

and the main products have a meaningful share in the OEM after-sales
market in various countries.

[..,7 RN P (- [ p— p— p—— p— ) P p— p— p— :ll)k

x| xm | E ‘ x| x| xm | xm | xm | X x| xm | xm | x ‘ KBRS

A\ A A A A A A A =

Quality Management System S STy
REEEERIMNBES

Cert f ficate

‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘‘

ertify that
Zhejiang lec Automobile Parts

Y
WA — BN E S ARAR

AT
GB/T19001-2016 / 1S09001:2015
WERE
L B N WIS

SO ]
ISO9001

ol



<<TECHNICAL PROCESS TECHNICAL PROCESS»»
Brake Chamber Master Brake Chamber Master

B v YRR S
AIR LEAKAGE TESTING

AUTOMATIC STAMPING




<S<TECHNICAL PROCESS
Brake Chamber Master

MACHINE WORK

TESTING>»>
Brake Chamber Master

COMPREHENSIVE
PERFORMANCE TEST

HIGH AND LOW TEMPERATURE -40 °C LOW TEMPERATURE
COMPREHENSIVE TEST EXPERIMENT

opmEs AOPEET () r' §!
BRSNS , ' ‘
1 : ,
|
1

IS @

RESEARCH AND

DEVELOPMENT INSPECT

oS



<<EXHIBITION
Brake Chamber Master

EXHIBITION

AFTER-SALES TEAM MEETING

UNIVERSAL
PRODUCT

(o]



SINGLE BRAKE CHAMBER SINGLE BRAKE CHAMBER

BRAKE CHAMBER BRAKE CHAMBER T01.0001.6 BRAKE CHAMBER
2 Holes LE 136 136 2 Holes
STROKE: 76mm 76mm 76mm STROKE: 76mm 76mm 76mm f“,:' STROKE: 44mm 44mm
i

BOLT CENTRE: 120.7mm  120.7mm  120.7mm BOLT CENTRE: 76.2mm 76.2mm
BOLT THREAD: M16*1.5 M16*1.5 5/8-11" UNC BOLT THREAD: M12*15 7/16-14 UNC
PORT THREAD: 2-M16*15 2-M22'L5  2-3/8"NPT T3 PORT THREAD: 2-M16*15  2-3/8"NPT
PUSHRODTHREAD: M16*L5  MI16*L5 5/8-18 UNF PUSHRODTHREAD: ~ M16*L5 1/2-20 UNF
PUSHROD LENGTH: 200-260mm  200-260mm ~ 200-260mm PUSHRODLENGTH: ~ 200-260mm  200-260mm

BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*1.5 M16*1.5 5/8-11" UNC
PORT THREAD: M16*1.5 M22*1.5 3/8" NPT
PUSH ROD THREAD: M16*1.5 M16*1.5 5/8-18 UNF
PUSHROD LENGTH: 200-260mm  200-260mm  200-260mm

BRAKE CHAMBER T01.0002.3 BRAKE CHAMBER [N

BRAKE CHAMBER BRAKE CHAMBER 7010018
¢ 130 T30 T30 _2H oles T30 T30 T30 2 Holes 2 H‘?les

STROKE: 64mm 64mm 64mm 1 STROKE: 64mm 64mm 64mm ‘_40‘ STROKE: 76mm T) STROKE: 76mm
BOLT CENTRE: 120.7mm 120.7mm 120.7mm BOLT CENTRE: 120.7mm 120.7mm 120.7mm 1 BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLTTHREAD: ~ MI6'L5 ~ MI6*L5  5/8-11"UNC BOLT THREAD: MI6'L5 ~ MI6'L5  5/8-11"UNC | BOLT THREAD: MI6°L5 BOLT THREAD: MI6*L5

-\a PORT THREAD: M16*1.5 M22*1.5 3/8" NPT A3 PORT THREAD: 2-M16*15  2-M22*1.5  2-3/8"NPT PORT THREAD: 2-M16*15 PORT THREAD: 2-M16*15
PUSH ROD THREAD: M16*1.5 M16*1.5 5/8-18 UNF PUSHROD THREAD:  M16*1.5 M16*1.5 5/8-18 UNF 3 PUSH ROD THREAD: M16*15 PUSHROD THREAD:  M16*15
PUSHROD LENGTH: 200-260mm  200-260mm ~200-260mm PUSHRODLENGTH:  200-260mm  200-260mm ~ 200-260mm PUSHRODLENGTH:  200-260mm PUSHRODLENGTH:  200-260mm

BRAKE CHAMBER  [TEHl [OTIER] EYIGEE BRAKE CHAMBER [IEFY] TR T01.000:
=7 = = . =7 =7 =7 BRAKE CHAMBER 701.0019.1 BRAKE CHAMBER 701.0020.1
oles
A A 2 Holes T20L 2 Holes T16L
\ STROKE: 64mm 64mm 64mm "y STROKE: 64mm 64mm 64mm
: . .
BOLTCENTRE:  1207mm  1207mm  120.7mm BOLT CENTRE: 1207mm  1207mm  120.7mm ¥ SIROKES Zomin \ SIROKE: e
BOLTTHREAD: ~ MI6'L5  MI6'L5  5/8-11"UNC BOLT THREAD: MI6*L5  MI6*L5  5/8-11" UNC BOLTCENTRES L20-fm BOLTCENTRE: £20, Ty
A & -y . - e\ - 3
- PORTTHREAD:  MI16'L5  M22'L5  3/8"NPT PORTTHREAD:  2-MI16'L5 2-M22'L5  23/8"NPT BOLT THREAD: Mi6:15 BOLTTHREAD: MIES
5 PORT THREAD: 2-M16*15 Q PORT THREAD: 2MI16*15

PUSHROD THREAD: M16*1.5 M16*1.5 5/8-18 UNF PUSHROD THREAD:  M16*1.5 M16*1.5 5/8-18 UNF

PUSHROD LENGTH: 200-260mm  200-260mm  200-260mm PUSHROD LENGTH:  200-260mm  200-260mm  200-260mm FUSHRODTHREAD:  MIG:LS PUSHRODTHREADY  IMI6"LS
PUSHROD LENGTH: ~ 200-260mm PUSHROD LENGTH: ~ 200-260mm
BRAKE CHAMBER 701.0004.2 Jll 701.0004.3 BRAKE CHAMBER
120 20 120 3ol 20 BRAKE CHAMBER Tol '
¥ STROKE: 57mm 57mm 57mm STROKE: 57mm 57mm 5Tmm 2 Holes 12 (& ~\ b Qﬁ
BOLT CENTRE: 120.7mm 120.7mm 120.7mm ! BOLT CENTRE: 120.7mm 120.7mm 120.7mm STROKE: 76mm % ‘9 o o
BOLT THREAD: M16*1.5 M16*1.5 5/8-11" UNC “ BOLT THREAD: M16*1.5 M16*15 5/8-11" UNC BOLT CENTRE: 120.7mm
- - PORT THREAD: M16*1.5 M22*15 3/8" NPT - - PORT THREAD: 2-M16*15  2-M22*1.5  2-3/8"NPT BOLT THREAD: M16*1.5 4 g
PUSHROD THREAD: M16*1.5 M16*1.5 5/8-18 UNF u— PUSHROD THREAD:  M16*1.5 M16*1.5 5/8-18 UNF PORT THREAD: 2-M22*1.5 . - ‘ ‘ “ % H (
PUSHROD LENGTH: 200-260mm  200-260mm  200-260mm PUSHROD LENGTH:  200-260mm  200-260mm  200-260mm PUSHROD THREAD: ~ M20*1.5 )}t \ ‘2‘
PUSHROD LENGTH: ~ 145mm 3 {f. e
BRAKE CHAMBER T0L0005.2 BRAKE CHAMBER
ot T16 T16 T16 2 Holes T16 T16 T16
3 STROKE: 57Tmm 57Tmm 57Tmm s STROKE: 57Tmm 57Tmm 57mm
BOLT CENTRE: 120.7mm 120.7mm 120.7mm BOLT CENTRE: 120.7mm 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*1.5 5/8-11" UNC BOLT THREAD: M16*1.5 M16*1.5 5/8-11" UNC
f 3 PORT THREAD: M16*1.5 M22*1.5 3/8" NPT = 3 PORT THREAD: 2-M16*15  2-M22*15  2-3/8"NPT
PUSHROD THREAD: M16*1.5 M16*1.5 5/8-18 UNF PUSH ROD THREAD:  M16*1.5 M16*1.5 5/8-18 UNF
PUSHROD LENGTH: 200-260mm  200-260mm  200-260mm PUSHROD LENGTH:  200-260mm  200-260mm  200-260mm

o8









SPRING BRAKE CHAMBER-DD ~= SPRING BRAKE CHAMBER-DD

(O)®)
BRAKE CHAMBER BRAKE CHAMBER TOL1002. BRAKE CHAMBER BRAKE CHAMBER
g {1 Sealed 5 Sealed
STROKE: 64mm 64mm 64mm | STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 76mm 76mm 76mm
BOLT CENTRE: 120.7mm  120.7mm 120.7mm BOLT CENTRE: 120.7mm 120.7mm 120.7mm BOLT CENTRE: 120.7mm 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm 120.7mm
BOLT THREAD: M16*L5 M16*15 5/8-11UNC BOLT THREAD: M16*L5 M16*1.5 5/8-11 UNC BOLT THREAD: M16*L5 M16*L.5 5/8-11UNC BOLT THREAD: M16*L5 M16*15 5/8-11UNC
3 PORT THREAD: M16*L5 3/8"NPT 3/8"NPT PORT THREAD: M16*L5 3/8"NPT 3/8"NPTT PORT THREAD: M16*L5 3/8"NPT 3/8"NPTT PORT THREAD: M16*L5 3/8"NPT 3/8"NPTT
{ PUSHROD THREAD: ~ M16*1.5 M16*L5 5/8-18 UNF PUSHROD THREAD:  M16*1.5 M16*1.5 5/8-18 UNF PUSHROD THREAD: ~ M16*15 M16*L5 5/8-18 UNF PUSHROD THREAD: ~ M16*15 M16*15 M16*L5
wﬂ PUSHROD LENGTH: ~ 330mm 285mm 340mm PUSHRODLENGTH: ~ 330mm 285mm 340mm PUSHROD LENGTH:  330mm 285mm 340mm PUSHRODLENGTH: ~ 330mm 285mm 340mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER T0L101 3 BRAKE CHAMBER 2 014,
o .« Sealed 724/24005 [l 724/24D05 [l 724/24D0S 11 Sealed
“\\ STROKE: 64mm 64mm 64mm ¥ STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
\ BOLT CENTRE: 1207mm  120.7mm  120.7mm | BOLT CENTRE: 1207mm  120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm  120.7mm BOLT CENTRE: 1207mm  120.7mm  120.7mm
BOLT THREAD: M16*L5 M16*L5 5/8-11UNC BOLT THREAD: M16*L5 M16*L5 5/8-11UNC BOLT THREAD: M16*L5 M16*15 5/8-11UNC BOLT THREAD: M16*L5 M16*L5 5/8-11UNC
PORT THREAD: M16*L5 3/8"NPT 3/8"NPT PORT THREAD: M16*L5 3/8"NPT 3/8"NPT PORT THREAD: M16*L5 3/8"NPT 3/8"NPT PORT THREAD: M16*L5 3/8"NPT 3/8"NPT

PUSHRODTHREAD: ~ M16*L5 M16*1.5 5/8-18 UNF
PUSHRODLENGTH: ~ 330mm 285mm 340mm

PUSHROD THREAD: ~ M16*15 M16*15 5/8-18 UNF PUSHROD THREAD: ~ M16*1.5 M16*L5 5/8-18 UNF PUSHROD THREAD: ~ M16*1.5 M16*15 5/8-18 UNF

PUSHRODLENGTH: ~ 330mm 285mm 340mm PUSHRODLENGTH: ~ 285mm 285mm 285mm PUSHROD LENGTH: ~ 330mm 285mm 340mm

BRAKE CHAMBER 701,105 BRAKE CHAMBER BRAKE CHAMBER 701.1015.2 [l 0110153 BRAKE CHAMBER 701.1016.1 [l Tov.1016.2 Jll T01.1016.3
§ 4 Sealed 716/240DS Jl 716/24DD3 |l T16/24DDS s Sealed T16/160DS
STROKE: 57Tmm 57Tmm 57mm STROKE: 57mm 5Tmm 57Tmm STROKE: 57Tmm 57mm 5Tmm STROKE: 5Tmm 5Tmm 5Tmm
BOLTCENTRE:  1207mm  1207mm  120.7mm BOLTCENTRE:  82mm 762mm  100mm BOLTCENTRE:  82mm 762mm  1207mm BOLT CENTRE: 82mm 762mm  1207mm
BOLTTHREAD:  MIE'L5  MI16'L5  5/8-11UNC BOLTTHREAD:  7/1614  5/8-11UNC 5/8-11UNC BOLTTHREAD: ~ 7/1614  5/8-LIUNC  5/8-11UNC BOLTTHREAD:  7/1614  5/8-11UNC  5/8-11UNC
PORTTHREAD:  MI6'LS  3/8'NPT  3/8"NPT PORTTHREAD:  3/8"NPT  3/8"NPT  3/8"NPT PORTTHREAD:  3/8'NPT  3/8'NPT  3/8"NPT PORTTHREAD:  3/8"NPT  3/8"NPT  3/8"NPT

PUSHRODTHREAD:  5/8-18UNF  5/8-18UNF  5/8-18 UNF PUSHRODTHREAD:  5/8-18UNF  5/8-18UNF  5/8-18 UNF

PUSHRODLENGTH:  330mm 285mm 340mm

PUSHROD THREAD: ~ M16*15 M16*15 5/8-18 UNF PUSHRODTHREAD:  5/8-18UNF  5/8-18UNF  5/8-18 UNF

PUSHRODLENGTH:  330mm 285mm 340mm

PUSHRODLENGTH:  285mm 285mm 285mm PUSHROD LENGTH: ~ 285mm 285mm 285mm

BRAKE CHAMBER ToL 10071 [ ToL1007.2 BRAKE CHAMBER ToL1008.1 ToL 10083 BRAKE CHAMBER
Sealed 7 Sealed T30/36005 T30/36005 Sealed
STROKE: 76mm 76mm 76mm STROKE: 76mm 76mm 76mm STROKE: 44mm 44mm
| BOLT CENTRE: 1207mm  1207mm  120.7mm BOLT CENTRE: 1207mm  1207mm  120.7mm BOLT CENTRE: 76.2mm 76.2mm
: 13 BOLT THREAD: MI6*L5  M16'L5  5/8-1LUNC g |3 BOLT THREAD: MI6'L5  M16'L5  5/8-LLUNC BOLT THREAD: M12'L5 M12*L5
—— . PORTTHREAD: MIG'L5  3/8'NPT  3/8"NPT PORT THREAD: M16'L5  3/8'NPT  3/8"NPT PORT THREAD: 3/8"NPT MI6*L5
‘é %{“_ PUSHRODTHREAD: M16*L5  MI6'L5  5/8-18UNF PUSHRODTHREAD: ~M16*L5 ~ MI6'L5  5/8-18UNF PUSHRODTHREAD:  M16*L5 M16*L5
el PUSHRODLENGTH: ~ 330mm 285mm 340mm PUSHRODLENGTH: 330mm 265mm  340mm PUSHRODLENGTH:  285mm 285mm

BRAKE CHAMBER 701.1009.1 [l T01.1009.2 Jlf T01.1009.3 BRAKE CHAMBER T01.1010.3
t Sealed T30/300DS T30/30DDS . Sealed 730/300DL9
STROKE: 64mm 64mm 64mm I STROKE: 76mm 76mm 76mm
BOLT CENTRE: 1207mm  1207mm 120.7mm BOLT CENTRE: 1207mm  1207mm  120.7mm
BOLT THREAD: MIG'L5  MIG'L5  5/8-LLUNC BOLT THREAD: MI*L5  MI6'L5  5/8-11UNC
PORTTHREAD:  MI16'L5  3/8'NPT  3/8"NPT f PORT THREAD: MIE'L5  3/8'NPT  3/8"NPT
| PUSHRODTHREAD: MI16'L5  MI6'L5  5/8-18UNF \ PUSHRODTHREAD:  M16'L5  MI6'L5  5/8-18UNF
PUSHRODLENGTH: 330mm  285mm  340mm PUSHRODLENGTH: 330mm  285mm  340mm

I~



DISC SPRING BRAKE CHAMBER

BRAKE CHAMBER BRAKE CHAMBER

.
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*15 MI16*L5 M16*15 BOLT THREAD: M16*15 M16*15 5/8-11UNC
PORTTHREAD: ~ M16*L5 3/8"NPT  M22*15 PORT THREAD: M16*15  3/8"NPT  3/8"NPT
PUSHRODLENGTH: 15.5mm  15.5mm  15.5mm PUSHRODLENGTH: 15.5mm  15.5mm  15.5mm

BRAKE CHAMBER 701.1019.1 ) To1.1019.2 f T01.1019.3 BRAKE CHAMBER
o tron
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*15 MI16*1L5 M16*15 BOLT THREAD: M16*15 M16*15 5/8-11UNC
PORT THREAD: M16*15 3/8"NPT  M22*15 PORT THREAD: M16*15  3/8"NPT  3/8"NPT
PUSHRODLENGTH: 15.5mm  155mm  15.5mm | PUSHROD LENGTH: 15.5mm  15.5mm  15.5mm
BRAKE CHAMBER 701.1020.2 f T01.1020.3 BRAKE CHAMBER T01.1020.5
Tispéonc || Tisamoc | Tiefasonc 6
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
BOLTCENTRE:  120.7mm  120.7mm 120.7mm BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLTTHREAD: ~ M16*15 MI16*L5 M16*L5 BOLTTHREAD: ~ MI16"L5 ~M16*15 5/8-11UNC
PORT THREAD: M16*15 3/8"NPT M22*15 PORT THREAD: M16*1.5 3/8"NPT  3/8"NPT
PUSHRODLENGTH: 15.5mm  155mm  15.5mm | PUSHRODLENGTH: 15.5mm  15.5mm  15.5mm

BRAKE CHAMBER  [ummN] [[EGIH] [R0IE) BRAKE CHAMBER  [mEms) [EGE
T24/3000C i tibe TI6400C TIGMDOC

STROKE: 64mm 64mm 64mm STROKE: 57Tmm 57Tmm 57mm

BOLT CENTRE: 120.7mm  120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm  120.7mm

BOLT THREAD: M16*15 M16*'L5 M16*1L5 BOLT THREAD: M16*15 M16'15 M16*L5

PORT THREAD: M16*15  3/8'NPT  M22*1L5 PORT THREAD: M16*15  3/8'NPT M22*1L5

| PUSHRODLENGTH: 15.5mm  15.5mm  15.5mm PUSHRODLENGTH: 15.5mm  15.5mm  15.5mm

@ y QOO0
S 11

16



18

9



PISTON BRAKE CHAMBER- DP o= PISTON BRAKE CHAMBER- DP-DISC

BRAKE CHAMBER 701.2001.1 |l 701.2001.2 BRAKE CHAMBER 701.2002.1 Jll 701.2002.2 BRAKE CHAMBER BRAKE CHAMBER
730/300P [l T30/30DP 730/24DP [l T30/24DP OL20EE L0
oY STROKE: 64mm 64mm X STROKE: 64mm 64mm
Y TROKE: STROKE:
BOLTCENTRE  1207mm  1207mm \ BOLTCENTRE  1207mm  1207mm TR SAmme = S Sl oA
—— T N\ g T — BOLT CENTRE: 1207mm  120.7mm BOLTCENTRE:  120.7mm  120.7mm
—— ETE R S — e BOLTTHREAD:  MIG'L5  MI6'LS BOLTTHREAD:  MIGL5  MIG'L5
PUSHRODTHREAD: MIE'L5  MI6'L5 PUSHRODTHREAD: M16'L5  MI6'LS PORGIHREAD:  Migis  (M2z21s FORTTHREND:  MIGiLs!  M2771s
PUSHROD LENGTH:  330mm 30 PUSHROD LENGTH: 330mm 330 PUSHROD LENGTH:  15.5mm 15.5mm PUSHROD LENGTH: 15.5mm 15.5mm
BRAKE CHAMBER 701.2003.1 [l 701.2003.2 BRAKE CHAMBER 701.2004.1 |l 701.2004.2
724/30DP [ T24/300P 724/24DP [l T24/24DP BRAKE CHAMBER BRAKE CHAMBER
X . 701.2013.1 Jll 701.2013.2 101.2014.2
STROKE: 64mm 64mm N STROKE: 64mm 64mm VOLVO
o
BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 1207mm  120.7mm
" STROKE: 64mm 64mm STROKE: 64mm 64mm

BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*1.5
PUSHROD THREAD:  M16*1.5 M16*1.5
PUSHROD LENGTH:  330mm 330mm

BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*1.5
PUSHROD THREAD:  M16*1.5 M16*1.5
PUSHROD LENGTH:  330mm 330mm

BOLT CENTRE: 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*15
PUSHROD LENGTH:  15.5mm 15.5mm

BOLT CENTRE: 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*15
PORT THREAD: M16*1.5 M22*1.5
PUSHROD LENGTH:  15.5mm 15.5mm

BRAKE CHAMBER 701.2005.1 |l 701.2005.2 BRAKE CHAMBER 701.2006.1
T16/240P [ T16/24DP 1 T20/200 [l T20/200P
3 STROKE: Stm  57mm STROKE: émm  64mm BRAKE CHAMBER BRAKE CHAMBER
701.2015.1 |l T01.2015.2 701.2016.1 [l T01.2016.2
BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm - = - .
BOLTTHREAD:  MI6'L5  MI6*L5 BOLTTHREAD:  MI6'L5  MI6L5 EEET D o=
PORTTHREAD:  M16*L5  M22'15 PORTTHREAD:  M16'L5  M22'L5 STROKE: i e3men STROKE: a7 ST
i — N — BOLTCENTRE:  1207mm  120.7mm BOLTCENTRE:  1207mm  120.7mm
PUSHRODLENGTH: 330mm  330mm PUSHRODLENGTH: 330mm  330mm BOLITHREAD:  MIGL  MIG'LS BOLTTHREADS  [MIGLS]  MI6Ls
PORTTHREAD:  MI6'L5  M22'L5 PORTTHREAD:  MI6'L5  M22*L5

PUSHROD LENGTH:  15.5mm 15.5mm PUSHROD LENGTH:  15.5mm 15.5mm

BRAKE CHAMBER 701.2007.1 Jll 701.2007.2 BRAKE CHAMBER 701.2008.1 |l 701.2008.2 &
«;
STROKE: 64mm 64mm | STROKE: 5Tmm 5Tmm
BOLT CENTRE: 1207mm  120.7mm X BOLT CENTRE: 1207mm  120.7mm BRAKE CHAMBER T
BOLT THREAD: M16*15  M16*L5 BOLT THREAD: M16*15  MI6*L5
PORT THREAD: M16*15  M22'15 PORT THREAD: M16*15  M22°15
PUSHRODTHREAD: M16*15  M16*L5 PUSHRODTHREAD: M16*L5  M16*L5 STROKE: STmm sTmm
PUSHROD LENGTH: ~ 330mm 330mm PUSH ROD LENGTH: = 330mm 330mm BOLT CENTRE: 120.7mm - 120.7mim
BOLT THREAD: M16*15  M16*L5
BRAKE CHAMBER mETR | | BRAKE CHAMBER o
"
STROKE: 5Tmm 5Tmm 2 STROKE: 44mm 44mm
BOLT CENTRE: 82mm 76.2mm BOLT CENTRE: 76.2mm 762mm

BOLT THREAD: M12*15 M12*15
L M14°L5 ”

PORT THREAD: RMels  M22'15

PUSHRODTHREAD: M16*L5  MI2‘L5

PUSHROD LENGTH:  125mm 125mm

BOLT THREAD: M12*1.5 M12*1.5
PORT THREAD: M16*1.5 M16*1.5
PUSHROD THREAD: M12*1.5 M12*1.5
PUSHROD LENGTH:  125mm 125mm

20 cl




DCP SERIES

BRAKE CHAMBER BRAKE CHAMBER
‘

STROKE: 64mm 64mm 64mm

\ BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*1.5 M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*15  3/8"NPT
PUSH ROD THREAD: M16*1.5 M16*1.5 M16*1.5
PUSHROD LENGTH: 330mm 330mm 330mm

A3

STROKE: 64mm 64mm 64mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*1.5 M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*15 3/8" NPT
PUSH ROD THREAD: M16*1.5 M16*1.5 M16*1.5
PUSHROD LENGTH: 330mm 330mm 330mm

_m._

w

BRAKE CHAMBER T01.3003.1 T01.3003.
T30/24DCP | T30/
& STROKE: 64mm 64mm 64mm STROKE: 64mm
\ BOLTCENTRE:  120.7mm  120.7mm  120.7mm X BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLTTHREAD: ~ MI16*15  M16*15  MI6*L5 BOLTTHREAD: ~ MI16*15  M16'L5  M16*L5

PORTTHREAD: ~ M16*15  M22°15  3/8"NPT PORTTHREAD: ~ M16*L5  M22'L5  3/8"NPT

PUSHRODTHREAD: M16*15  M16*15  MI16*L5 PUSHROD THREAD: M16*15  M16*L5  M16*L5

PUSH ROD LENGTH: 330mm 330mm 330mm PUSHROD LENGTH: 330mm 330mm 330mm

BRAKE CHAMBER T01.3004.3
124/24DCP [ T24/24DCP

2
2

mm mm

P

BRAKE CHAMBER : BRAKE CHAMBER 01.3006.3
20240

STROKE: 64mm 64mm 64mm 5 STROKE: 64mm 64mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm A\ \ BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*1.5  M16*1L5  M16*L5 BOLT THREAD: M16*15  M16*1L5  M16*L5
PORT THREAD: M16*15  M22*15  3/8"NPT PORT THREAD: M16*15  M22*15  3/8"NPT
PUSHROD THREAD: M16*1.5  M16*15  M16*L5 PUSHROD THREAD: M16*L5  M16*L5  MI16*L5
PUSHROD LENGTH: 330mm 330mm 330mm PUSHROD LENGTH: 330mm 330mm 330mm

01.3008.3

BRAKE CHAMBER

BRAKE CHAMBER

£ T16/24DCP T16/16DCP T16/16DCP

I STROKE: 57Tmm 57Tmm 57Tmm STROKE: 64mm 64mm 64mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm | BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLT THREAD: M16*1.5  M16*1.5  M16*L5 ! BOLT THREAD: M16*1.5  M16*'15  MI6*L5
PORT THREAD: M16*1.5 M22*1.5  3/8"NPT ! PORT THREAD: M16*1.5 M22*15 3/8" NPT
PUSH ROD THREAD: M16*1.5 M16*1.5 M16*1.5 PUSHROD THREAD: M16*1.5 M16*1.5 M16*1.5
PUSH ROD LENGTH: 330mm 330mm 330mm | PUSH ROD LENGTH: 330mm 330mm 330mm

BRAKE CHAMBER 701.3009.1 Jf T01.3009.2 ) T01.3009.3
i T12/16DCP | T12/16DCP J T12/16DCP
STROKE: 44mm 44mm 44mm
BOLT CENTRE: 120.7mm  120.7mm  120.7mm
BOLTTHREAD:  MI6*L5  MI6*L5  MI6*L5
PORTTHREAD:  MI6*L5  M22*L5  3/8"NPT
PUSHRODTHREAD: M16*L5  MI6*L5  MI6*L5
PUSHRODLENGTH: 330mm  330mm  330mm

2 23



DCP SERIES = DCP SERIES

BRAKE CHAMBER 701.3010.1 Jll 701.3010.2 BRAKE CHAMBER 701.3011.1 Jl 701.3011.2 BRAKE CHAMBER 701.3020.1 Jl 701.3020.2 BRAKE CHAMBER T01.3021.2
STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm
BOLT CENTRE: 1207mm  120.7mm BOLTCENTRE:  1207mm  120.7mm BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 1207mm  120.7mm
BOLT THREAD: MI6'L5  M16'L5 BOLTTHREAD: ~ MIG'L5  MIE'L5 BOLTTHREAD:  MI16*L5  MI6'L5 BOLT THREAD: MI6*L5  MI6'L5
PORTTHREAD:  MI6*L5  M22*L5 PORTTHREAD: M16'L5  M22'L5 PORTTHREAD:  MI6*L5  M22'L5 PORTTHREAD:  MIE'L5  M22'L5
PUSHROD THREAD:  M16 M16 PUSHROD THREAD: M16 M16 PUSH ROD THREAD: M16 M16 PUSHROD THREAD:  M16 M16
PUSHRODLENGTH: 155mm  155mm PUSHRODLENGTH: 15.5mm  155mm PUSHRODLENGTH: 155mm  15.5mm PUSHRODLENGTH: 155mm  15.5mm
BRAKE CHAMBER 7101.3012.1 il T01.3012.2 BRAKE CHAMBER 701.3013.1 [l T01.3013.2 BRAKE CHAMBER 701.3022.1 J§ T01.3022.2
VOLVO
STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 44mm 44mm
.
BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 76.2mm 76.2mm b
BOLT THREAD: M16*15  MI6*L5 BOLT THREAD: M16*15 M16*1.5 BOLT THREAD: MI2'L5  MI2'L5
PORT THREAD: MI6*L5  M22'15 PORT THREAD: MI6*L5  M22*L5 PORT THREAD: MIE*'L5  M22'L5 r)
PUSHROD THREAD:  M16 M16 PUSH ROD THREAD:  M16 M16 PUSHROD THREAD:  M16 M16
PUSHROD LENGTH: ~ 15.5mm 15.5mm PUSHROD LENGTH: 15.5mm 15.5mm PUSHRODLENGTH: 15.5mm  15.5mm
BRAKE CHAM BER T02.3014.1 [ T01.3014 BRAKE CHAM BER T01.3015.1 Il T01.3 BRAKE CHAM BER T01.3023.1 4 .2 BRAKE CHAMBER T01.3024.1 il T01.3024.2
SEED —— WELD CLEVIS WELD CLEVIS
STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm
BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm / BOLT CENTRE: 120.7mm  120.7mm
BOLTTHREAD: MIELS  MIG'LS BOLTTHREAD:  MI6L5  MIG'L5 BOLT THREAD: MI6*L5  MIGL5 BOLT THREAD: MI6*L5  MIE'LS
PORTTHREAD:  MIGL5  M22°L5 PORTTHREAD:  MIG'LS  M22'L5 PORTTHREAD:  MI6*L5  M22'L5 PORTTHREAD:  MI6'L5  M22'L5
PUSHROD THREAD:  M16 M16 PUSHROD THREAD:  M16 M16 PUSHRODTHREAD: [M16 g PUSHRODTHREAD:  [M16 Mi6
PUSHRODLENGTH: 15.5mm  155mm PUSHRODLENGTH: 155mm  155mm PUSHRODLENGTH: - 11mm Lmm PUSH ROD LENGTH:  11mm dimny
101.3026.2
BRAKE CHAMBER Tornes BRAKE CHAMBER : il — MR 1o —
i o S -
STROKE: 64mm STROKE: 64mm  64mm TROKE: 64mm 64mm : 64mm 64mm
BOLT CENTRE: 120.7mm BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm

BOLT THREAD: M16*15 M16*1.5
PORT THREAD: M16*1.5 M22*1.5 PORT THREAD: M16*1.5 M22*1.5
PUSHROD THREAD:  M16 M16 PUSHROD THREAD:  M16 M16
PUSHROD LENGTH:  11mm 11mm PUSHROD LENGTH:  11mm 1lmm

2 * x
BOLT THREAD: M16*1.5 BOLT THREAD: M16*1.5 M16*1.5

PORT THREAD: M16*1.5
PUSHROD THREAD: M16
PUSHROD LENGTH: 15.5mm

BOLT THREAD: M16*15  MI16*L5
PORT THREAD: M1615  M22°15
PUSHROD THREAD: M16 M16

= PUSHRODLENGTH: 15.5mm  15.5mm

=

BRAKE CHAMBER BRAKE CHAMBER
DEEP
STROKE: 64mm 64mm STROKE: 64mm  64mm 6 @
BOLT CENTRE: 120.7mm  120.7mm = BOLT CENTRE: 120.7mm  120.7mm g e
BOLT THREAD: M16*15 M16*L5 BOLT THREAD: M16*15  M16*L5 o
PORT THREAD: M16*L5 M22*15 PORT THREAD: M16*15  M22'15
M22 to M16 VOSS Deep Normal
PUSHROD THREAD:  M16 M16 PUSH ROD THREAD: ~ M16 M16
PUSHROD LENGTH:  15.5mm 155mm = PUSHRODLENGTH: 15.5mm  15.5mm

cH cs



SINGLE WEDGE TYPE

SINGLE WEDGE TYPE

©)
BRAKE CHAMBER
STROKE:
E BOLT THREAD:
PORT THREAD:

02:
48mm 48mm 48mm
13/4"12UN-2A 13/4"12UN-2A  M48*2
MI16*15 M2'15 M16*L5

PUSHRODLENGTH: 123mm 123mm 113mm

48mm
M48*2
M22*15
113mm

BRAKE CHAMBER

STROKE:
K 2 BOLT THREAD:
PORT THREAD:

i T20/24HF
48mm 48mm 48mm
13/4"12UN2A 13/4"12UN2A M48*2
M16*L5 M22'15 M16°15

PUSHROD LENGTH: 123mm 123mm 113mm

48mm
M48*2
M22*15
113mm

BRAKE CHAMBER BRAKE CHAMBER
101,302 10130254 10130264
STROKE: 48mm 48mm 48mm 48mm STROKE: 48mm 48mm 48mm 48mm
~ = BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A  M48*2 M48*2 » BOLT THREAD: 13/4"12UN-2A 13/4"12UN-A  M48*2 M4g*2
PORTTHREAD: ~ M16*L5 M22'15 M16*15 M22*15 PORT THREAD: M16*15 M22*'15 M16*15 M22'15
= PUSHRODLENGTH: 123mm 123mm 113mm 113mm PUSHROD LENGTH: 123mm 123mm 113mm 113mm
BRAKE CHAMBER BRAKE CHAMBER
) 701.3027.1 [l 101.3027.2 J§ T01.302 701.3028.1 |l 701.3028.2 [l 701.3028.3 Jf T01.3028.4
 §
STROKE: 44mm 44mm 44mm 44mm STROKE: 48mm 48mm 48mm 48mm
BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A M48*2 M48*2 ! BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A M48*2 M4gr2
PORT THREAD: M16*15 M22'15 M16*L5 M22*15 PORT THREAD: MI16*15 M22'L5 M16*L5 M22*15
PUSHRODLENGTH: ~ 123mm 123mm 135mm 135mm - PUSHROD LENGTH: 123mm 123mm 113mm 113mm
BRAKE CHAMBER BRAKE CHAMBER
STROKE: 48mm 48mm 48mm 48mm é STROKE: 48mm 48mm 48mm 48mm
w ‘ BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A  M48*2 M48*2 (F BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A  M48*2 M48*2
_. * - i PORTTHREAD: ~ M16°L5 M22'15 M16*15 M22*15 o & PORTTHREAD: ~ M16*L5 M22'15 M16*L5 M22*1.5
x Cod PUSHROD LENGTH: 123mm 123mm 113mm 113mm 9 PUSHROD LENGTH: 123mm 123mm 113mm 113mm
BRAKE CHAMBER BRAKE CHAMBER
‘
" STROKE: 48mm 48mm 48mm STROKE: 48mm 48mm 48mm
o= BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A M48*2 M48*2 BOLT THREAD: 13/4"12UN-2A 13/4"12UN-2A M48*2 M48*2
l‘m‘ | PORT THREAD: M16*15 M2'15 M16*1.5 M22*15 PORT THREAD: MI6*15 M2'15 M16*L5 M22*15
" PUSHROD LENGTH:  123mm 123mm 113mm 113mm PUSHRODLENGTH: 123mm 123mm 135mm 135mm

BRAKE CHAMBER BRAKE CHAMBER
STROKE: 48mm 48mm STROKE:
BOLTTHREAD:  13/4"LUN2A  M4g'2 BOLTTHREAD:  13/4"12UN-2A MAG'2
PORT THREAD: 2-M16'15 2-M16'15 PORT THREAD: 2-MI6'15  2-M16'L5
PUSHRODLENGTH:  123mm 113mm PUSHRODLENGTH: 123mm  113mm
BRAKE CHAMBER BRAKE CHAMBER
i1
STROKE: 48mm 48mm STROKE: 44mm
BOLTTHREAD:  13/4"I2UN2A  MAG2 BOLTTHREAD:  M4g"2
: PORTTHREAD:  2-M16'L5 2MI6'L5 PORTTHREAD:  2-M16'15
PUSHRODLENGTH:  123mm 113mm PUSHRODLENGTH:  135mm
BRAKE CHAMBER BRAKE CHAMBER
STROKE: 44mm 44mm 44mm STROKE: 44mm 44mm 44mm
BOLTTHREAD:  M4g"2 1ALUNA  L3/A"2UNA BOLTTHREAD:  M4g"2 1YLUNA  13/A"12UNIA
: PORTTHREAD:  2-MIG'L5  2MIE'LS  2-MIELS ; PORTTHREAD:  2-MI6'L5  2MIE'LS  2:MIE'LS
PUSHRODLENGTH:  113mm 93mm 123mm PUSHRODLENGTH:  113mm 93mm 123mm
BRAKE CHAMBER BRAKE CHAMBER
STROKE: 48mm 48mm STROKE: 48mm 48mm
v PORT THREAD: 2MI6'L5  2MIE'LS v PORT THREAD: 2MI6'L5  2-MI6'LS
LENGTH: 88mm 127mm LENGTH: 88mm 127mm
FLANGE HOLE DIAMETER:  11.5mm 11.5mm FLANGE HOLE DIMETER:  11.5mm 11.5mm
FLANGE PLATE THICKNESS:  12mm 12mm FLANGE PLATE THICKNESS:  12mm 12mm

oo

Aluminum

Iron

3

-

O

26

21




KNORR SERIES-KN

KNORR SERIES-KN

O O O
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
4 124/24KN Dis
STROKE: 64mm  64mm \ STROKE: 64mm 64mm STROKE: 64mm 64mm SIROKES 64mm 64mm
BOLTCENTRE:  1207mm  120.7mm " BOLTCENTRE:  1207mm  120.7mm BOLTCENTRE:  120.7mm  120.7mm BOLTCENTRE:  120.7mm  120.7mm
BOLT THREAD: MI6*L5  MIG'LS5 ¢ BOLT THREAD: MI6*L5  M16*L5 BOLT THREAD: M16*L5  M16*L5 BOLT THREAD: M16'L5  MI16*15
PORTTHREAD:  MIGL5  M22'L5 2 4 PORTTHREAD:  M16'15  M22'L5 PORTTHREAD:  M16'L5  M22*L5 PORTTHREAD:  M16'15  M22'L5
PUSHRODTHREAD: MI6*L5  M16°L5 v PUSHRODTHREAD: M16°L5  M16'L5 PUSHROD THREAD: ~ M16 M16 PUSHRODTHREAD: = M16 M16
PUSHRODLENGTH: 330mm  330mm \ PUSHRODLENGTH: 330mm  330mm PUSHRODLENGTH: 155mm  15.5mm PUSHRODLENGTH: 155mm  15.5mm
BRAKE CHAMBER T01.3043.2 BRAKE CHAMBER BRAKE CHAMBER T01.3048.1 BRAKE CHAMBER T01.3049.2
3 , TI6/24KN
STROKE: 64mm 64mm o STROKE: 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm
\ BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 1207mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm
& BOLT THREAD: M16*15 M16*15 BOLT THREAD: M16*15  MI6*L5 BOLT THREAD: M16*15 M16*15 BOLT THREAD: M16*15  M16*L5
K.‘;_ CORTTIREAD: WS (335 PORTTHREAD:  M16'L5  M22°L5 PORTTHREAD:  MI6*L5  M22'L5 PORTTHREAD:  MI16*L5  M22*15
A PUSH ROD THREAD: M16*1.5 M16*1.5 ) PUSHROD THREAD:  M16*1.5 M16*1.5 PUSHROD THREAD: M16 M16 PUSHROD THREAD:  M16 M16
A PUSH ROD LENGTH: 330mm 330mm \ PUSHRODLENGTH: 330mm  330mm PUSHRODLENGTH: 15.5mm  155mm PUSHRODLENGTH: 155mm  155mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER

STROKE: 57Tmm 57Tmm
BOLT CENTRE: 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*1.5
PUSHROD THREAD:  M16 M16
PUSH ROD LENGTH:  15.5mm 15.5mm

STROKE: 57Tmm 57Tmm
BOLT CENTRE: 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*1.5
PUSH ROD THREAD:  M16 M16
PUSHROD LENGTH:  15.5mm 15.5mm

PUSH ROD THREAD:  M16*1.5 M16*1.5
PUSHROD LENGTH:  330mm 330mm

X STROKE: S5Tmm 57mm
BOLTCENTRE:  1207mm  1207mm
BOLTTHREAD:  MI6'L5  MI6'LS
/ b PORTTHREAD:  MI6*L5  M22'L5
1
4;\
®

BRAKE CHAMBER BRAKE CHAMBER
DEEP
STROKE: 5Tmm 5Tmm STROKE: 64mm 64mm
BOLT CENTRE: 1207mm  120.7mm * BOLT CENTRE: 1207mm  120.7mm
BOLTTHREAD:  MI6*L5  MI6*L5 - BOLTTHREAD:  MI16*L5  MI6*L5
PORTTHREAD:  MI6'15  M22*L5 PORTTHREAD:  MI6'L5  M22*L5
» i PUSHROD THREAD:  M16 M16 PUSHROD THREAD:  M16 M16
aluminum iron PUSHRODLENGTH: 155mm  155mm PUSHRODLENGTH: 155mm  15.5mm
BRAKE CHAMBER 4 BRAKE CHAMBER T01.3052.6
DEEP BiEE
STROKE: 64mm 64mm STROKE: 64mm 64mm
BOLT CENTRE: 1207mm  120.7mm b BOLT CENTRE: 1207mm  120.7mm
BOLT THREAD: MI6'L5  MI6'LS : BOLTTHREAD:  MI6*L5  MI6'L5
PORTTHREAD:  MI6‘15  M22'L5 PORTTHREAD:  MI16'L5  M22*'15
PUSHROD THREAD: M16 M16 PUSHROD THREAD:  M16 M16

PUSHROD LENGTH:  15.5mm 15.5mm PUSHROD LENGTH:  15.5mm 15.5mm

28 29



KNORR SERIES-KN

BRAKE CHAMBER BRAKE CHAMBER
STROKE: 64mm 64mm STROKES 64mm
BOLTCENTRE:  120.7mm

BOLT CENTRE: 120.7mm 120.7mm
BOLT THREAD: M16*1.5 M16*1.5
PORT THREAD: M16*1.5 M22*15
PUSHROD THREAD: M16 M16
PUSHROD LENGTH:  15.5mm 15.5mm

BOLT THREAD: M16*1.5
PORT THREAD: M16*15
PUSHROD THREAD:  M16

PUSHROD LENGTH:  15.5mm

BRAKE CHAMBER BRAKE CHAMBER
T01.3056.1
STROKE: 48mm 48mm STROKE: 48mm 48mm
PORT THREAD: M22*1.5 M16*1.5 PORT THREAD: M22*1.5 M16*1.5
LENGTH: 102mm 102mm LENGTH: 102mm 102mm
FLANGE HOLE DIAMETER:  11.5mm 11.5mm FLANGE HOLE DIAMETER:  11.5mm 11.5mm
FLANGE PLATE THICKNESS: 12mm 12mm FLANGE PLATE THICKNESS: 12mm 12mm
BRAKE CHAMBER BRAKE CHAMBER
701.3058.2
STROKE: 48mm 48mm STROKE: 48mm 48mm
PORT THREAD: M22*1.5 M16*1.5 PORT THREAD: M22*1.5 M16*1.5
LENGTH: 102mm 102mm LENGTH: 102mm 102mm
FLANGE HOLE DIAMETER:  11.5mm 11.5mm FLANGE HOLE DIAMETER:  11.5mm 11.5mm
FLANGE PLATE THICKNESS: 12mm 12mm § FLANGE PLATE THICKNESS: 12mm 12mm
)

TECHNOLOGY-1 TECHNOLOGY-2 TECHNOLOGY-3




EUROPE SERIES

(O)®)
BRAKE CHAMBER T0L40 BRAKE CHAMBER [01.4002.1 [ ToL4002.2
STROKE: 48mm 48mm 88 STROKE: 43mm 43mm
PORT THREAD: MIE'LS  MI6'LS PORT THREAD: MIE'L5  MIG'LS
LENGTH: 90mm 127mm LENGTH: 90mm 127mm
FLANGEHOLEDIAMETER:  1L5mm  11.5mm FLANGEHOLEDIMETER:  1L5mm  1L5mm
FLANGE PLATE THICKNESS: ~ 12mm 12mm FLANGE PLATE THICKNESS: ~ 12mm 12mm
BRAKE CHAMBER
STROKE: 48mm 43mm — il i
PORT THREAD: MIE'L5  MI6LS é s WSS WS
LENGTH: 90mm 12Tmm
FLANGEHOLEDIAMETER:  115mm  1L5mm LENGTH; iligm  124um
FLANGE PLATE THICKNESS:  12mm 12mm BOLT THREAD: Mag*2 1:3/4"-12UNS
BRAKE CHAMBER BRAKE CHAMBER —
STROKE: 48mm 48mm STROKE: 48mm 48mm
PORT THREAD: MIE'LS  MI6LS PORTTHREAD: ~ MIE'LS  MI6'LS
LENGTH: 117mm 124mm LENGTH: 117mm 124mm
BOLT THREAD: w4812 13/4"-12UNS BOLT THREAD: ) 1-3/4"-12UNS
BRAKE CHAMBER BRAKE CHAMBER
sealed g || sealed
=1 / T20 0 i / 120
STROKE: 57Tmm 5Tmm 3 STROKE: 57Tmm 5Tmm
Jél \  PORITHRED:  MIELS MG : = | PORTTHREAD:  MI6'L5  MI6'LS
= BOLT CENTRE: 12mm*82mm 12mm*82mm ] BOLTCENTRE:  12mm*82mm 12mm*82mm
w “—  (LWPSHAPE Sealed ——  (LWPSHPE Sealed

33



9P
=]
L
=
=)
9]
<
e
=

GOOD'!

2.8 .8 & & &

2 8 8 8 & &
2 0.8 & & &
8 8 8 & &
K K KKK K
KX K K KX
L. 5.5 8 & &
XX XX KX

SERIES

35

34






U.S.A SERIES — U.S.A SERIES —

38

BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
Sealed L 120
— :)t:ﬁms- IZ:‘;“mm STROKE: 64mm STROKE: 64mm
BOLTCENTRE  76mm : g BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLTTHREAD:  M12'L5 BOLT THREAD: 5/8° UNC BOLT THREAD: 5/8" UNC BOLT THREAD: 5/8" UNC
PORTTHREAD:  3/8" NPT /) PORTTHREAD: 2:3/8" NPT PORT THREAD: 2:3/8" NPT PORT THREAD: 23/8" NPT
PUSH RODIHREAD:S 5/f-UNE " PUSHRODTHREAD: 5/8"UNF PUSHRODLENGTH:  25.4mm PUSHRODLENGTH:  25.4mm
PUSHROD LENGTH: 285mm PUSHRODLENGTH:  285mm-340mm
BRAKF CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
1l T30 4
STROKE: 64mm STROKE: 64mm STROKE: 76mm \ STROKE: 76mm
BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm BOLT CENTRE: 1207mm
) BOLT THREAD: 5/8" UNC BOLT THREAD: 5/8" UNC BoUE gD 5/ UNC B o
e Ll PORT THREAD: 23/8" NPT PORT THREAD: 23/8" NPT i HIED: 38° NPT S——— -
- p— PUSHRODTHREAD:  5/8" UNF PUSHRODTHREAD:  5/8" UNF GiSifGhitienn  asam SIS RGHLENGT By
PUSHRODLENGTH:  285mm-340mm PUSHRODLENGTH:  285mm-340mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
|
STROKE: 5Tmm 5Tmm STROKE: 57Tmm 5Tmm
BOLTCENTRE  120.7mm 762mm BOLTCENTRE  82mm T6:2mm S "
BOLTTHREAD:  5/8" UNC 7/16-14UNC BOLTTHREAD:  5/8" UNC 7/16-14UNC BOLTCENTRE: 1207mm
\ PORT THREAD: 2:3/8" NPT 2:3/8" NPT PORT THREAD: 2:3/8" NPT 2:3/8" NPT BOLTTHREAD: S
PUSH ROD THREAD:  5/8" UNF 1/2-20UNF PUSHROD THREAD:  5/8" UNF 1/2-20UNF PORTTHREAD: HEFINL
PUSH ROD LENGTH: 285mm 285mm PUSHROD LENGTH: ~ 285mm 285mm PUSHROD LENGTH:  15.5mm
BRAKE CHAMBER BRAKE CHAMBER
N T2 3
> STROKE: 44mm STROKE: 44mm 5 &
I BOLT CENTRE: 76.2mm BOLT CENTRE: 76.2mm I3
BOLT THREAD: 7/16-14UNC BOLT THREAD: 7/16-14UNC § I - I
il. PORT THREAD: 23/8 NPT PORT THREAD: 23/8" NPT a‘
a PUSHRODTHREAD:  1/2-20UNF PUSHRODTHREAD:  1/2-20UNF i :
PUSHRODLENGTH:  285mm PUSHRODLENGTH:  285mm o } -
BRAKE CHAMBER BRAKE CHAMBER
STROKE: 76mm STROKE: 76mm
BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLT THREAD: 5/8° UNC BOLT THREAD: 5/8" UNC
PORT THREAD: 23/8" NPT PORT THREAD: 23/8" NPT
PUSHRODLENGTH:  25.4mm PUSHRODLENGTH:  25.4mm







RUSSIA SERIES - RUSSIA SERIES —

BRAKE CHAMBER BRAKE CHAMBER
OEM:30.3519300 OEM:24.3519200

a

° STROKE: 64mm E STROKE: 64mm

BOLTCENTRE:  120.7mm BOLTCENTRE:  120.7mm
BOLTTHREAD:  MI6*L5 BOLTTHREAD:  MI16*L5
PORTTHREAD:  M16*L5 PORTTHREAD:  MI16*L5
PUSHROD THREAD:  M16*15 PUSHROD THREAD:  M16*L5
PUSHROD LENGTH;  110mm PUSHROD LENGTH:  110mm

GREAT'!

BRAKE CHAMBER BRAKE CHAMBER
OEM:12.3519110 OEM:661.3519300

short long

STROKE: 48mm STROKE: 64mm 64mm
BOLT THREAD: 13/4-12UNS BOLT CENTRE: 120.7mm  120.7mm
e PORT THREAD: M16*L5 BOLT THREAD: MI6*L5  MI6'L5
PUSH ROD THREAD:  1-3/4 PORT THREAD: M16*15  MI6*15
w TUBE LENGTH: 120mm PUSHROD THREAD: M16*L5  M16*L5
’ PUSHRODLENGTH: 110mm  270mm
BRAKE CHAMBER 701.8005.1f T01.8005.2 BRAKE CHAMBER 701.8006.1 Jf T01.B006.2
OEM:661.3519200 OEM:661.3519100
gt \iog STROKE: 64mm 64mm shoet \ forig STROKE: 64mm 64mm
n BOLT CENTRE: 120.7mm  120.7mm N BOLT CENTRE: 120.7mm  120.7mm
) * BOLT THREAD: M16*1.5 M16*1.5 BOLT THREAD: M16*15  M16*L5
7™ " PORT THREAD: M16*15  M16*L5 ) \ PORT THREAD: M16*15  MI16*L5
' PUSHROD THREAD: MI16*L5  M16*15 PUSHRODTHREAD: MI6*L5  M16*L5
| PUSHRODLENGTH: 110mm  270mm PUSHRODLENGTH: 110mm  270mm
BRAKE CHAMBER BRAKE CHAMBER
OEM:100.3519300 OEM:100.3519200
u STROKE: 64mm f STROKE: 64mm
il BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
= - BOLT THREAD: M16*L5 BOLT THREAD: M16*15
i i PORT THREAD: M16*L5 PORT THREAD: M16*L5

} PUSHROD THREAD:  M16*1.5
PUSHROD LENGTH:  110mm

PUSH ROD THREAD:  M16*1.5
PUSHROD LENGTH:  110mm

BRAKE CHAMBER
0OEM:100.3519100
1 STROKE: 64mm
il BOLT CENTRE: 120.7mm

')
{

good qualit
&% BOLTTHREAD:  MI6'LS >
tﬁ" PORTTHREAD:  MIG*L5 01 d-R eSIS
=

PUSHROD THREAD:  M16*1.5
PUSHROD LENGTH:  110mm

ye H3



RUSSIA SERIES

BRAKE CHAMBER BRAKE CHAMBER
OEM:30.3519010 0OEM:100.3519110
STROKE: 64mm STROKE: 64mm
BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLT THREAD: M16*1.5 BOLT THREAD: M16*1.5
PORT THREAD: M16*1.5 PORT THREAD: M16*1.5
PUSHROD THREAD:  M16*1.5 PUSHROD THREAD:  M16*1.5
PUSHROD LENGTH:  110mm PUSHROD LENGTH:  110mm
BRAKE CHAMBER BRAKE CHAMBER
OEM:100.3519110 OEM:100.3519010-01
P STROKE: 64mm STROKE: 5Tmm
'» BOLT CENTRE: 120.7mm BOLT CENTRE: 76.8mm
BOLT THREAD: M16*1.5 BOLT THREAD: M12*1.5
PORT THREAD: M16*1.5 PORT THREAD: M16*1.5
PUSHROD THREAD: ~ M16*1.5 PUSH ROD THREAD:  M16*1.5
PUSHROD LENGTH: ~ 110mm PUSHROD LENGTH:  110mm
BRAKE CHAMBER BRAKE CHAMBER
ggmgggg; e OEM:64229-1602705
STROKE: 64mm STROKE: 64mm
BOLT CENTRE: 76.8mm BOLT CENTRE: 76.8mm
BOLT THREAD: M12*15 BOLT THREAD: M12*15
PORT THREAD: M16*1.5 PORT THREAD: M16*1.5
PUSHROD THREAD:  M12*1.5 PUSHROD THREAD:  M12*1.5
PUSHROD LENGTH:  110mm PUSHROD LENGTH:  110mm+
BRAKE CHAMBER BRAKE CHAMBER
OEM:150B-3519110 OEM:150B-3519010
STROKE: 57Tmm STROKE: 5Tmm
BOLT CENTRE: BOLT CENTRE:
BOLT THREAD: BOLT THREAD:
PORT THREAD: M16*1.5 PORT THREAD: M16*1.5
PUSHROD THREAD:  M12*1.5 PUSHROD THREAD:  M12*1.5
PUSHROD LENGTH:  110mm PUSHROD LENGTH:  110mm+

Hy

4s



JAPAN
SERIES

47




e JAPANESE SERIES © e JAPANESE SERIES ®

BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER

LR [ToL o1 01.0001.5] o1 001
L R LR

L R

STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm
PORT THREAD: 3/8"NPT 3/8" NPT 3/8"NPT PORT THREAD: 3/8" NPT 3/8" NPT 3/8" NPT PORT THREAD: fi 1S RN PORT THREAD: BN
TUBE LENGTH: 100mm 115mm 125mm TUBE LENGTH: 135mm 145mm 155mm TUBE LENGTH: 165mm 180mm 200mm TUBE LENGTH: 210mm
# FLANGE HOLE DIAMETER:  10.5mm 105mm 105mm | <4 FLANGEHOLEDIAMETER:  10.5mm 105mm 105mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 105mm FLANGE HOLE DIAMETER:  10.5mm
ﬁmnespwzmcmzs& 15mm/20mm  15mm/20mm  15mm/20 FLANGE PLATE THICKNESS:  15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS:  15mm/20mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER

L R

L R [ToL0004. 01
L R LR

STROKE: 64mm 64mm 64mm

STROKE: 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: IENPT  BENPT  3/ENPT PORT THREAD: 38" NPT PORT THREAD: i et el PORT THREAD: it it i
TUBE LENGTH: 165mm 180mm 200mm TUBE LENGTH: 210mm TUBE LENGTH: 100mm 115mm 125mm TUBE LENGTH: 135mm 145mm 155mm
LANGE HOLE DIAMETER: ~ 10.5mm 105mm 105mm FLANGE HOLE DIAMETER:  10.5mm FLANGE HOLEDIAMETER: ~ 105mm  10.5mm 10.5mm FLANGE HOLEDIAMETER:  105mm  10.5mm 105mm
i FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm w FLANGE PLATE THICKNESS: ~ 15mm/20mm FLANGE PLATE THICKNESS: 12mm/15mm  12mm/15mm  12mm/15mm FLANGE PLATE THICKNESS: 12mm/15mm 12mm/15mm  12mm/15mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
L R L R !
LR LR
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm
PORT THREAD: 3/8" NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8" NPT 3/8"NPT 3/8"NPT PORT THREAD: b4 Honet PORT THREAD: BN
=51 TUBE LENGTH: 100mm 115mm 125mm - "\ TUBELENGTH: 135mm 145mm 155mm ?} TUBELENGTH: 165mm 200mm TUBE LENGTH: 210mm
'FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm FLANGE HOLE DIAMETER: 10.5mm
FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS:  15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: 12mm/15mm 12mm/15mm 12mm/15mm FLANGE PLATE THICKNESS: ~ 12mm/15mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER

T . B

0. 5.6
L R L R -
STROKE: 64mm 64mm 64mm STROKE: 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: IENPT  ENPT NPT PORT THREAD: 38 NPT PORT THREAD: IBNPT  YENPT  3°NPT PORT THREAD: IENPT NPT g NPT
e TUBE LENGTH: 165mm 185mm 200mm =R TUBE LENGTH: 210mm c TUBE LENGTH: 100mm 115mm 125mm c TUBELENGTH: 135mm 145mm 155mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER: 10.5mm FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: ~ 15mm/20mm FLANGE PLATE THICKNESS: 15mm/20 15mm/20 FLANGE PLATE THICKNESS:  15mm/20mm  15mm/20mm  15mm/20mm

BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER

T01.D003.1§ T01.D003.2

=

00:

L R L R
L R L R
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm STROKE: 64mm 64mm 64mm STROKE: 64mm
PORT THREAD: Eia Fia N " PORTTHREAD: s T W PORT THREAD: NPT IENPT  3/B'NPT PORT THREAD: 3/8° NPT
TUBE LENGTH: 100mm 115mm 125mm , TUBE LENGTH: 145mm 155mm TUBE LENGTH: 165mm 180mm 200mm TUBE LENGTH: 210mm
FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm 105mm FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm
FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS:  15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: ~ 15mm/20mm

48 H9



JAPANESE SERIES

JAPANESE SERIES

o' oo &
BRAKE CHAMBER BRAKE CHAMBER 01,0006, BRAKE CHAMBER rE BRAKE CHAMBER
T01.0014.1
& & L R 4 —
STROKE: oy |4-BOLTS STROE S STROKE: 64mm STROKE: 64mm e
BOLT CENTRE: 120.7mm | BOLT CENTRE: 120.7mm g i BOLT CENTRE: 100 H :
BOLTTHREAD:  MI6'L5 [ BOLT THREAD: M1615 BOERGENRRES — f5mnt N ' mn
PORT THREAD: 3/8" NPT = < PORT THREAD: 3/8" NPT PORT THREAD: 3/8" NPT PORT THREAD: 3/8" NPT
PUSHROD THREAD: ~ M16*L5 @%: PUSHRODTHREAD:  M16*L5 PUSH ROD THREAD: ~ M16*L5 PUSHROD THREAD: ~ M16*L5
PUSHROD LENGTH:  145mm : — PUSH ROD LENGTH: 380mm PUSHROD LENGTH: ~ 285mm PUSHROD LENGTH: ~ 385mm
BRAKE CHAMBER T01.0007.2 BRAKE CHAMBER 701.0008.1 BRAKE CHAMBER BRAKE CHAMBER
T01.D016.1] T01.0016.2 | T01.D016.3 T01.D016.4 | T01.0016.5 | T01.D016.6
T“ Tl4 T24 T24 T24 T24
STROKE: 64mm 64mm STROKE: 64mm
K« 5 BOLT CENTRE: 120.7mm  120.7mm " BOLT CENTRE: 120.7mm  120.7mm - STROKE: 57Tmm 5Tmm 57Tmm - STROKE: 5Tmm 5Tmm 5Tmm
4 BOLT THREAD: M16*15  M16'L5 BOLT THREAD: MI6'L5  MI6L5 ! PORT THREAD: 3/8NPT  3/8"NPT  3/8' NPT ! \ PORT THREAD: 3/8"NPT  3/8'NPT  3/8"NPT
PORT THREAD: M16:1.5 3/8”'NPT & PORT THREAD: Mls:lj 3/8':|PT e % ¢ ’ % TUBE LENGTH: 100mm 115mm 125mm ‘&« X’ * TUBE LENGTH: 135mm 145mm 155mm
PUSHRODTHREAD: M16*L5 ~ M16*L5 PUSHRODTHREAD: ~ M16'L5  MI16*L5 TN ST T RLANGEHOLEDAMETER:  105mm  105mm  105mm T « FLANGEHOLEDIAMETER:  105mm  105mm  10.5mm
PUSHRODLENGTH: 125mm  125mm PUSHRODLENGTH:  125mm  125mm FLANGE PLATE THICKNESS: 12mm/15mm  12mm/15mm  12mm/15mm FLANGE PLATE THICKNESS:  12mm/15mm  12mm/15mm  12mm/15mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
4-BOLTS 701.0016.7| T01.0016.8 | T01.0016.9 701.0016.10
I R T24 124 T24 T4
L R STROKE: 64mm 64mm 4-BOLTS STROKE: 64mm 64mm
} ‘ BOLT CENTRE: 120.7mm  120.7mm BOLT CENTRE: 120.7mm  120.7mm - STROKE: STmm STmm s7mm _ STROKE: 5Tmm
i ‘J‘ i 1 .U. i BOLT THREAD: M16*1.5 M16*L5 BOLT THREAD: M16*1.5 M16*1.5 ! " PORT THREAD: 3/8"NPT  3/8"NPT  3/8"NPT / & PORT THREAD: 3/8" NPT
- PORT THREAD: IENPT N PORT THREAD: YENPT R Gl AP TUBELENGTH: 165mm  18mm  200mm g X" TUBE LENGTH: 210mm
E E PR T NS WS PUSHRODTHREAD:  MI6'L5  M16'L5 TESR ST CANGEHOLEDWMETER:  105mm 105mm 105mm FETT FLANGEHOLEDIAMETER:  10.5mm
PUSHRODLENGTH:  380mm  380mm PUSHRODLENGTH: ~ 145mm 145mm FLANGE PLATE THICKNESS: 12mm/15mm  12mm/15mm  12mm/15mm FLANGE PLATE THICKNESS:  12mm/15mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
B 7101.0017.1| T01.0017.2] T01.D017 TOL!
. TZ4 TZ4 TZ4
STROKE: §4mm % STROKE: Stainy
\\ \, BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm STROKE: 5Tmm 57Tmm 57Tmm STROKE: 5Tmm 57Tmm 57Tmm
; "
) BOLTTHREAD:  MIE'L5 i BOLT THREAD: M1E'L5 PORT THREAD: Y#NPT 1A NPT 14" NPT PORT THREAD: Y#NPT  1ANPT 14" NPT
& PORT THREAD: 3/8" NPT PORT THREAD: 3/8° NPT TUBE LENGTH: 100mm 115mm 125mm TUBE LENGTH: 135mm 145mm 155mm
& PUSHROD THREAD: ~ M16*1.5 PUSHRODTHREAD:  M16*L5 T~ FLANGEHOLEDIAMETER: ~ 105mm  105mm  105mm - FLANGEHOLEDIAMETER: ~ 105mm  105mm  105mm
PUSHROD LENGTH:  145mm PUSHRODLENGTH: ~ 125mm FLANGE PLATE THICKNESS: 12mm/L5mm  12mm/15mm 12mm/15mm FLANGE PLATE THICKNESS: 12mm/i5mm  12mm/15mm  12mm/15mm
BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER BRAKE CHAMBER
T30 T01.D017.8 701.0017.10
——
STROKE: 64mm
STROKE: 76mm
BOLT CENTRE: 120.7mm STROKE: 5Tmm 5Tmm 57Tmm STROKE: 57Tmm
_ ; " BOLT CENTRE: 120.7mm ; i . .
1 i 1 BOLT THREAD: M16*15 X PORT THREAD: 14'NPT  1/4"NPT  1/4"NPT PORT THREAD: 1/4° NPT
s PORT THREAD: 3/8" NPT BOLT THREAD: M16*15 : TUBE LENGTH: 165mm 180mm 200mm 8 TUBE LENGTH: 210mm
2. PUSHRODTHREAD: ML6'L5 HORTiTHILEAS 3/8 NPT . FLANGEHOLEDIAMETER:  105mm  105mm  10.5mm = FLANGE HOLE DIAMETER:  10.5mm
5 PUSH ROD LENGTH:  125mm PUSHROD THREAD: ~ M16"15 FLANGE PLATE THICKNESS: 12mm/15mm  12mm/15mm  12mm/15mm FLANGE PLATE THICKNESS:  12mm)/15mm

So

Si



JAPANESE SERIES

JAPANESE SERIES

oo
BRAKE CHAMBER TOTDOIRT BRAKE CHAMBER T01D019.1
I 20
STROKE: 64mm I * I STROKE: 64mm
BOLT CENTRE: 76mm ik ; BOLT CENTRE: 120.7mm
PORT THREAD: 3/8" NPT BOLT THREAD: M16*1.5
& PUSH ROD THREAD:  M16*1.5 PORT THREAD: 3/8" NPT
\_*:g‘ PUSH ROD LENGTH: ~ 385mm PUSH ROD THREAD: M16
-
BRAKE CHAMBER T BRAKE CHAMBER —
L R L a
STROKE: 76mm - STROKE: 76mm
PORT THREAD: 3/8"NPT PORT THREAD: 3/8"NPT
4 £ > TUBELENGTH: 190mm = S o -~ TUBE LENGTH: 120mm
FLANGE HOLE DIAMETER: 10.5mm | FLANGE HOLE DIAMETER: 10.5mm
FLANGE PLATE THICKNESS: ~ 12mm FLANGE PLATE THICKNESS:  12mm
BRAKE CHAMBER BRAKE CHAMBER
T01.D02
L R . +80LTS
. STROKE: T6mm STROKE: 64mm Gl
PORT THREAD: 3/8" NPT BOLT CENTRE: 120.7mm 120.7mm
B 2 £C TUBE LENGTH: 130mm PORT THREAD: 3/8"NPT 1/4" NPT
[“="S  FLANGE HOLE DIAMETER: 10.5mm PUSH ROD THREAD: M16*1.5 M16*15
FLANGE PLATE THICKNESS:  12mm PUSH ROD LENGTH: 520mm 520mm
BRAKE CHAMBER T01.D022.1 j§ T01.D022.2 BRAKE CHAMBER T01.D023.1
ABOLTS, 240 MC838567 24
STROKE: 64mm 64mm STROKE: 64mm
BOLT CENTRE: 120.7mm 120.7mm BOLT CENTRE: 100mm
PORT THREAD: 3/8"NPT 1/4"NPT PORT THREAD: 1/4"NPT
PUSH ROD THREAD: M16*1.5 M16*1.5 PUSH ROD THREAD: M16*15
PUSH ROD LENGTH: 270mm 270mm PUSH ROD LENGTH: 125mm
BRAKE CHAMBER BRAKE CHAMBER T
i ® i B
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT
TUBE LENGTH: 100mm 115mm 125mm M\ TUBE LENGTH: 135mm 145mm 155mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: 15mm/20; 15mm/20mm  15mm/20 FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm

Se

o
BRAKE CHAMBER BRAKE CHAMBER
7 701.D024.8 § T01.D024. T 24.10
L. Lo
STROKE: 64mm 64mm 64mm STROKE: 64mm
PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT
TUBE LENGTH: 165mm 180mm 200mm TUBE LENGTH: 210mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER: 10.5mm
FLANGE PLATE THICKNESS: 15mm/20: 15mm/20r FLANGE PLATE THICKNESS: ~ 15mm/20mm
BRAKE CHAMBER BRAKE CHAMBER
T01.D025.1§ T01.DO: T01.D025. T01.DO: T 25.5 § T01.D02
£ @ -
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT 3/8"NPT  3/8"NPT
8., TUBE LENGTH: 100mm 115mm 125mm > TUBE LENGTH: 135mm 145mm 155mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm 15mm/20mm
BRAKE CHAMBER BRAKE CHAMBER
T01.D025.7 | T01.D025.8 § T01.D025.9 T01.D025.10
— s &
STROKE: 64mm 64mm 64mm STROKE: 64mm
w PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT
;TUBE LENGTH: 165mm 180mm 200mm TUBE LENGTH: 210mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER: 10.5mm
FLANGE PLATE THICKNESS: 15mm/20mm  15mm/20mm  15mm/20mm FLANGE PLATE THICKNESS: ~ 15mm/20mm
BRAKE CHAMBER T01.D026.1 BRAKE CHAMBER
148250.702Y T01.D027.1§ 701.0027.2 § T01.D027.3
Loa
|
STROKE: 64mm STROKE: g4mm G4mm g4mm
BOLT CENTRE: 120.7mm PORT THREAD: IENPT  IENPT NPT
BOLT THREAD: M16*15 TUBE LENGTH: 100mm 115mm 125mm
PORT THREAD: 3/8° NPT FLANGEHOLEDIAMETER: 105mm  105mm  105mm
PUSH ROD THREAD: M16*L5 FLANGE PLATE THICKNESS: 15mm 15mm 15mm
BRAKE CHAMBER BRAKE CHAMBER
_— "
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT
TUBE LENGTH: 135mm 145mm 155mm TUBE LENGTH: 165mm 180mm 200mm
FLANGE HOLE DIAMETER: ~ 10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: 15mm 15mm 15mm FLANGE PLATE THICKNESS: 15mm 15mm 15mm

53



0 o= JAPANESE SERIES ®

FLANGE HOLE DIAMETER: 10.5mm
FLANGE PLATE THICKNESS: ~ 15mm

BRAKE CHAMBER BRAKE CHAMBER
T01.D027.10 T01.D028.1
_ _
STROKE: 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: 3/8"NPT PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT
TUBE LENGTH: 210mm TUBE LENGTH: 100mm 115mm 125mm
FLANGE HOLE DIAMETER: 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: ~ 15mm FLANGE PLATE THICKNESS: 15mm 15mm 15mm
BRAKE CHAMBER BRAKE CHAMBER
T01.0028.4 | T01.0028.5 § T01.0028.6 T01.D028.7 | T01.D028.
- 5
STROKE: 64mm 64mm 64mm STROKE: 64mm 64mm 64mm
PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT PORT THREAD: 3/8"NPT 3/8"NPT 3/8"NPT
TUBE LENGTH: 135mm 145mm 155mm TUBE LENGTH: 165mm 180mm 200mm
FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm FLANGE HOLE DIAMETER:  10.5mm 10.5mm 10.5mm
FLANGE PLATE THICKNESS: 15mm 15mm 15mm FLANGE PLATE THICKNESS: 15mm 15mm 15mm
BRAKE CHAMBER BRAKE CHAMBER
- 5
Sk Sl ¥ STROKE: 64mm
[ BOLT CENTRE: 120.7mm
PORT THREAD: 3/8"NPT -
BOLT THREAD: M16*15
TUBE LENGTH: 210mm
PORT THREAD: 3/8" NPT

PUSHROD THREAD: ~ M16*1.5
PUSHROD LENGTH: ~ 145mm

BRAKE CHAMBER
30. T01.D030.2
£ R

3/8NPT_ |

Ay |

ss



INDIA SERIES

PERFECT !

57



INDIA SERIES ——

BRAKE CHAMBER BRAKE CHAMBER
4 20
STROKE: 64mm STROKE: 5Tmm
BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLT THREAD: M16*1.5 BOLT THREAD: M16*1.5
PORT THREAD: 1/4"NPT  Side hole PORT THREAD: 1/4"NPT  Side hole
PUSHROD THREAD:  M16*1.5 PUSHROD THREAD:  M16*1.5
PUSHROD LENGTH:  125mm PUSHROD LENGTH:  125mm
BRAKE CHAMBER BRAKE CHAMBER
-
STROKE: 64mm STROKE: 64mm
BOLT CENTRE: 120.7mm BOLT CENTRE: 120.7mm
BOLT THREAD: M16*1.5 BOLT THREAD: M16*1.5
PORT THREAD: VOSS M22 PORT THREAD: VOSS M22

PUSHROD THREAD:  M16*1.5 PUSHROD THREAD:  M16*1.5

PUSHRODLENGTH:  125mm 5 § PUSHRODLENGTH:  125mm
BRAKE CHAMBER BRAKE CHAMBER
»

STROKE: 64mm 1 STROKE: 44mm

BOLT CENTRE: 120.7mm BOLT CENTRE: 76.2mm

BOLT THREAD: M16*L5 BOLT THREAD: M12*15

PORTTHREAD: & MI4LS PORTTHREAD: i ioeis

PUSHROD THREAD: 1615 PUSHROD THREAD:  M16*1.5

® PUSHRODLENGTH:  125mm PUSHROD LENGTH:  125mm

58



NEW PRODUCT SERIES

BRAKE CHAMBER BRAKE CHAMBER
OEM:81504106117 OEM:P253250132
S
#»
BRAKE CHAMBER BRAKE CHAMBER
O0EM:FM0561P30SD

Sealed

60

Cross Reference Numbers | Applicable to

T01.N005.1 110450005 02.0327.38.00
T01.N006.1 3454112500 02.0327.38.00
T01.N0O7.1 3454108500 02.0327.38.00

J

7

i
— , 9
Detail information

Reference No.
TOLN0081 [ 9 | 40 | 30X35X60 M12X1.0 21223339
TOLNO09.L [ 9 | 40 | 35X45X70 mixio | 00|
TOLN00101 [ 9 | 40 | 34x38x70 6MM PIPE 21212472
TOLNOOLLL | 2025 25MM
TOLN0012.1 | 20-30 30MM
TOLN0013.1 | 24-25 25MM
TOLN0014.1 | 24-30 30MM
TOLNO015.1 | 24-35 35MM
TOLNO016.1 | 16-25 25MM
TOLN0017.1 | 16-20 20MM
TOLNO018.1 | 12-20 20MM
TOLN0019.1 | 12-25 25MM

6/



62

<¢BRAKE CHAMBER PARTS

Brake Chamber Master

TYE9.A
TYE9.B
TYE12/16
TYE12S
TYE12
TYE14S
TYE14
TYE16S
TYE16
TYE16L
TYE20S
TYE20
TYE20L
TYE24
TYE24L
TYE27
TYE30
TYE30L
TYE36

Part No
T16-RD
T20-RD
T24-RD

> II

T9
oL
12/16 L

12ss

16 SS
T16
16 LS

20ss

T30L

T36L

Type
16
20

24

Diaphragms

o e

8971204954
8017209
8971219234
KY1505/2
8971205054
8971216104
8971216154
8971205104
8971205154
8971205164
8971205204
8971205254
8971205264
8971205354
8971205364
8971205474
8971205404
8971205464

8971205504

Diaphragms - Rolling

Alternative

C72596

C72336

C72337

272489

B.74478

801712

8017212

801714

8017214

801716

8017216

8017316

8017120

8017220

8017320

8017241

8017424

8017227

8017130

8017430

8017136

A

157

168

178

General

KY1505/1

A.75056.3
B.74479
B.61290
B.54871
A.75056.4
B.56649
1188264
A.75056.5
B.58894
1186260
B.64322
1186261
1190023
A.75056.7
B.59171

1185301

147

158

158

158

168

168

168

179

179

200

200

224

79

100

100

100

106

106

106

s

ns

120

139

139

165

63



64

BRAKE CHAMBER PARTS»>>

Brake Chamber Master

<<BRAKE CHAMBER PARTS

Brake Chamber Master

Clamp Ring Sets c, Nuts & Bolts

TYCS16
TYC

Rubber Gaiters

6
20
24
30

Part No Application

TYLO3.1

TYL03.2 “

Disc Parking
Actuators

Push Rods
Cam Brakes m Thread)

e e [ e |

.___

Push Rods
- Disc Brakes

10

TYI.B14 14
o
1
20
24
B

B10
2

Brake Chamber Reti

Type

Universal

TYS02 Drum spring

Yoke Assemblies

Long Version
| l F.O4 16mm Thread
14mm Pin

S

TYF.O6 16mm Thread

16mm Pin

TYF.02.B14 [

14mm Pin

TYF.Ol.Al/z Short Version

16mm Thread
1/2” Pin

[ mewe ]
o - 1

TYF.02.A14 NG

16mm Thread
14mm Pin

Deep Throat
Version

TYF.05.A14 ERERREES

14mm Pin

Alt: 003033609

TYF.02.C1/2 (R

Alt: 228790

ROLLER FORKS

65



BRAKE CHAMBER PARTS»>»>

PACKING METHOD

Brake Chamber Master

Adaptors " -
We can customize the packaging

design according to your requirements

Part No Information ‘ Image

TYD.03.A [
VOss

Male - M22x1.5 (Std)
TYD.O3- E Fem:l: - M22:|.5 VOss Q
Aluminum Sticker /

CHINA @ T1Z6 Plastic Thread Protector

2023.11.23

Male - M22x1.5
TYD.O3- B Fem:kee B M'|6:1.5

Male - M16x1.5
Female - 1/4 BSP

TYD.03.F

Laser Mark

Caution Label

Male - 1/4 BSP
TYD-O3~G Fem:l: - M16x1.5

@ @
Plastic Plug

Male - 3/8 BSP
Female - M16x1.5

TYD.03.H

reverse side

Male - M16x1.5
Female - 3/8 BSP

TYD.03.1

Plastic Bag

M48*2 1-3/4

Flange nut




= PACKING METHOD

~eo W

Pal let Package

Paper Pal let

CHINA SHIPP ING

68



